                    JAIIB CONTACT CLASSES -  PRINCIPLES OF  BANKING





Model Questions & Answers 

(Solutions given at the end)

1) A bank accepts a deposit  from a Corporate house.

 The features of  the deposit  are:

i) accepted at a discounted value

ii) stamp duty is borne by the bank

iii)issued as usance  promissory note 

iv)TDS is not applicable

Identify the deposit

a) commercial paper

b) certificate of deposit

c) flexi deposit

d) caution deposit

2) A bank finances an agriculturist to buy a tractor. The loan is secured by:

a) Hypothecation of the tractor

b)Mortgage of the tractor

c)Pledge of the tractor

d)Assignment of the tractor

3)Which of  the following statement/s is/are True?

 i) Commercial Paper is issued by a Corporate

ii) Certificate of  Deposit is issued by a Bank

iii)Letter of  Credit is non fund based line of credit

a) i and iii

b) i

c) i,ii and iii

d) ii and iii

4) Banks evaluate a credit proposal based on  which of the

    parameters?

    i) character, capital, condition

   ii) capacity, collateral, compliance

  iii) capital, collateral

  iv) capacity, compliance

  a) i

  b) ii

  c) i,iv

  d) i,ii

5) Banks cannot accept FCNR B deposits in ---------

 a) Canadian dollar

 b) Singapore dollar

 c) US dollar

 d) Australian dollar

6) Which of  the following statement is True:

a) A Non resident Indian (NRI) can open a FCNR (B)

    account in Indian Rupees

b) A Non resident Indian (NRI) can open a NRE a/c

    in Canadian Dollar

c) A Non resident Indian (NRI) can open a NRE a/c

    in Indian Rupees 

d) A Non resident Indian (NRI) can open a FCNR (B)

    recurring deposit account in Euro

7)  Match the following:

   i) Narashimam Committee       A -  Current Ratio

  ii) Short term solvency              B -  Export Finance  

 iii) ECGC                                   C – Standard Assets

 iv) Stand by l/c                           D - Trade Finance

  a) i) D ii) A iii) B iv) C

  b) i) C ii) A iii) B iv) D

  c) i) A ii) B iii) C iv) D

  d) i) B ii) D iii) C iv) A

  e) i) B ii) A iii) D iv) C              

8) An account holder draws a cheque on a :

 a) banker of the payee

 b) banker of the drawee

 c) banker of the drawer

 d) banker of the endorsee

 9) As per prudential norms bank assets are not

    classified as:

  a) Standard assets

  b) Quality assets

  c) Dobutful assets

  d) Loss assets

 10) As regards co-operative banks , RBI does not:

  a) issue  licence

  b) permit forex business

  c) appoint/approve stautory auditors

  d) conduct inspection

 11) Central Bank of  India, is a nationalized bank. It is

       classified as:

  a) Co-operative Society registered under the Co-

      operative  Societies Act

  b) Body corporate constituted under special statute/s

  c) Company registered under the Indian Companies       

      Act,1956

  d) either b or c

 12) The maximum Bank Rate is:

   a) 3%

   b) 6%

   c) 7.5%

   d) None of the above

13) The Reserve Bank of  India Act,1934 does not deal

    with:

  a) financial supervision of banks/financial institutions

  b) policy planning of cooperative banks

  c) management of  forex/forex reserves

  d) capital management and business of banks

14) CRR and SLR are not applicable to

 a) a certificate of  deposit

 b) credit balance in a cc account

 c) a flexi deposit

 d) a commercial paper

15) Bancassurance is
 a) an insurance scheme to insure bank deposits

 b) an insurance scheme exclusively for the employees

    of banks

 c) a composite financial service offering both bank and

     insurance products

d) a bank deposit scheme exclusively for employees of

    insurance companies

16) A bank installed an ATM at a Railway Station.Identify the marketing mix:

a) promotion

b) place

c) package

d) product

17) Tele banking is based on 

a) virtual banking

b) online banking

c) voice processing

d) core banking 


18) Banking Regulation Act,1949 was enacted to regulate:

 a) Reserve Bank of  India

 b) banking companies

 c) cooperative land development banks

 d) primary agricultural credit socities 

19) Bank A grants an overdraft to ABC Ltd against book debts. This is secured by:

a) hypothecation

b) pledge

c) mortgage

d) assignment       

20) ‘PIN’ in a ATM card is :

a) Permanent Information Number

b) Personal Identification Number

c) Professional Identification Number

d) Permanent Identification Number 

21) “Buy Now – Pay Now” is commonly used for ---

a) credit cards

b) ATM Cards

c) charge Cards

d) none of the above

22) Long Form Audit Report (LFAR) is prepared/

  sumitted by:

 a) bank’s concurrent auditor/s

 b) RBI inspector/s

 c) statutory auditors

 d) all of  the above

23) Which of the following asset/s is/are not NPAs:

 a) fixed assets

 b) standard assets

 c) both a and b

 d) neither a nor b

24) Onsite inspections of banks is based on --------

 methodology.

 a) CRISIL

 b) CAMELS

 c) CCIL

 d) LFAR

25) A cheque is received for payment with amount mentioned only in words. The banker would:

a) as per NI Act,honour the cheque for the amount in words

b) dishonour the cheque because no amount is mentioned in figures

c) to safe guard the bank’s interest return the

cheque with reason:words and figure differs

d) none of the above

26) Identify the document of title to goods:

 a) Bill of exchange

 b) Bill of lading

 c) Bill of entry

 d) any one of the above

27) In a Garnishee Order, the banker on whom a

garnishee order served is the

 a)  judgement  debtor’s   creditor

 b) judgement  creditor’s  creditor

 c) judgement  creditor’s  debtor

 d) judgement  debtor’s    debtor

28) Sec 85 of NI Act,1881 extends protection to the

a)  paying banker

b) collecting banker

c) advising banker

d) issuing banker

29)  -------------- pools money from investors and invests in stocks,bonds, shares 

a) a bank

b) a merchant  banker

c) a factor

d) a mutual fund


30) Ram and Shyam twin brothers aged 15 years. They want to open a joint account in your bank. You will allow them, to open a joint account 

a) to be operated jointly

b) with operating instructions either or survivor 

c)  with operating instructions former or survivor

d)  with operating instructions any one or survivor

31)  credit risk is:

a) default of the banker to maintain CRR

b) default of the banker to issue credit card

c) default of the banker to release credit to the       

    borrower on time

d) default of the  customer to repay the loan

32) In respect of  Regional Rural Banks, the share holding pattern is:

a) Central Government 50%,State Government 35%,Sponsoring Bank 15%

b) Central Government 50%,State Government 15%,Sponsoring Bank 35%

b) Central Government 15%,State Government 35%,Sponsoring Bank 50%

b) Central Government 35%,State Government 50%,Sponsoring Bank 15%

33) A holder for value is  a bank, which :

a) allows one of its clients to withdraw against

    clearance  of  a cheque. 

b) collects cheques for non customers

c) handles high value clearing 

d) high net worth customer’s accounts 

    accounts

34) One of your customers lost the fixed deposit receipt issued by the bank. To obtain a duplicate

fixed deposit receipt he needs to furnish

a) a power of  attorney

b) a guarantee

c) a letter of credit

d) an indemnity bond

35) Mr. Jayaraman maintains a SB account with your bank. He has given a POA to his son , to operate his SB account.

The relationship between the bank and Mr.Jayaraman is:

a) debtor and creditor

b) principal and agent

c) donor and donee

d) none of the above

36) A bank grants a CC of  Rs.10 crores line

of  credit to a client, against hypothecation of stocks.

The is margin  of  25%. If the client  wants to avail of the full limit of Rs.10 crores, the minimum  stocks required is:

a) Rs 10.00 crores

b) Rs 7.50 crores

c) Rs.12.50 crores

d) Rs.13.5 crores

37) Which is not the function of RBI?

a) regulates forex activities with the help of FEMA,1999

b) decides Bank rate,CRR and SLR from time to time

c) opens and maintains SB accounts 

d) prescribes the capital adequacy ratio

38) Under ---------- act, a copy of an entry in a banker’s records,certified by an officer of a bank may be treated as

prima facie evidence of a corresponding transaction in any

legal proceedings.

a) Reserve Bank of India Act,1934

b) Banking Regulation Act,1949

c) Banker’s Book Evidence Act,1891

d) Right of Information Act,2005      

39) As regards deposit insurance which of  the following statement/s is/are True?

i)  insurance cover for  deposits (demand and term) upto Rs.1,00,000.00  is available

ii) insurance cover is provided by general insurance companies 

iii) insurance premium is to be paid semi annually by the

bank and not customer/s

a) i and iii

b) ii 

c) ii and iii

d) iii

40) State which of  the following statement/s is/are True?

  i) open ended schemes are offered by mutual funds

 ii) banks cannot setup mutual funds, without RBI’s

     permission

iii) bank branches are used as a distribution channel for

     insurance products is called bancassurance

a) i,ii

b) ii,iii

c) i,iii

d) i,ii,iii

41) What are the features of a banker’s lien?

a) called as implied pledge

b) banker can retain the security 

c) banker right to sell in case of  default

d) a,b and c

42) Rule in clayton’s case is an example of:

a) right of lien

b) right of setoff

c) right of transfer

d) right of appropriation

43)Section 6 of  NI Act,1881 defines a cheque as

  a bill of exchange.State which statement/s is/are

 false?

a) a cheque and the bill of exchange is one and the same

b) a cheque is always payable on demand,whereas

a bill of exchange can be payable after a particular

time

c) a cheque can be crossed, but not a bill of exchange

d) a cheque is drawn on a banker, a bill of exchange

can  also be drawn on a client

44)What is a personal deposit account?

a) a current account opened and maintained by an

    individual

b) a high net worth client opens a special account

   offered by the bank’ personal banking division

c) an account opened with  bank/s, by certain

    government departments, authorized by the

    Accountant General

d) any one of the above

45)One of the key area of  Asset Liability Mangement of banks is the interest management. Banks analyse interest trends based on:

a) gap analysis

b) value at risk

c) duration analysis

d) all of  the above 

46) Provisions of  SRFAESI Act,2002 is not applicable to 

a) a pledge of movables as per Sec 172 of Indian Contract Act

b) any interest for repayment (upto Rs one lakh

for secured loans and upto Rs ten lakhs for 

unsecured loans

c) any one of a or b

d) both a and b

47) Securitisation is the process of acquisition of 

loans classified as :

a) standard assets

b) book debts

c) non performing assets

d) any one of the above


48) If, in a company’s government share holding is more than 51% , it is classified as:

a) Public Ltd 

b) Quasi government

c) Private Ltd

d) Government 

49) What is a Demat a/c:

 a) acronym for Demat is dematerialization of  shares

 b) dematerialization is a paperless book entry form    

    of shares

 c) demat accounts can be opened by banks

 d) all of  the above

50) NEFT is:

a) National Electronic Funds Transfer system offers

   an efficient,secured,economical facility

b)NEFT is available for retail customers

c) NEFT is an end to end and covers only the

   networked branches

d) all of the above

Solutions:

1)   b  11) b  21) d  31) d   41) d

2)   a  12) d  22) c  32)  b  42) d 

3)   c  13) b  23) c  33)  a  43) a 

4)   d  14) d  24) b  34) a   44) c

5)   b  15) c  25) c  35) a   45) d

6)   c  16) b  26) b  36) d   46) d

7)   b  17) c  27) d  37) c   47) c

8)   c  18) b  28) a  38) c   48) d

9)   b 19) d   29) d  39) a   49) d

10) c 20) b   30) a  40) d   50) d
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